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Question1:   The value of  ( ) ( )
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Question2:  The expression ( ) 1
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Question4:  Answer TRUE OR FALSE 

( )
( ) ( )
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11 1

1 13 3
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( ) 25 9 5 3

( )The expression

( )The value of 1 2 1 2 is equal to 1.
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Solution:  fals( )  is  beca :e usea  If 1  and 1x y= =  then          
2 2        25 9 25 9 16 4 5 3x y− = − = = ≠ −  
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tru( )  is  beca :e usec  
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fals( )  is  beca :e used  
 

Solution:   
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Question5:   
Simplify (a):  2 / 3( 27)−       (b):  2 / 3125       (c):  2 / 327       (c):  ( )2 / 3 7 / 3 1/ 32m m m+  

 

 

Solution:    
(a):  ( ) ( )

2 22 / 3 3( 27) 27 3 9− = − = − =  

(b):  ( ) ( )
2 22 / 3 3125 125 5 25= = =  

(c):  ( ) ( )
2 22 / 3 327 27 3 9= = =  

(d):  ( )
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